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Grade 11                               Test - 4 – Sequences & Series                                          



Name:_________________






Marks : 25











Time: 50 min

Answer the following questions:-
1.
A geometric sequence has all its terms positive. The first term is 7 and the third term is 28.

(a)
Find the common ratio.







[3]

(b)
Find the sum of the first 14 terms.






[3]

2.
The tuition fees for the first three years of high school are given in the table below.

	Year
	Tuition fees
(in dollars)

	1
	2000

	2
	2500

	3
	3125

	
	



These tuition fees form a geometric sequence.

(a)
Find the common ratio, r, for this sequence.





[2]

(b)
If fees continue to rise at the same rate, calculate (to the nearest dollar) the total cost of tuition fees for the first six years of high school.




[4]

3.
A basketball is dropped vertically. It reaches a height of 3 m on the first bounce. The height of each subsequent bounce is 80% of the previous bounce.

(a)
What height does it reach on the 8th bounce?




[3]

(b)
What is the total vertical distance travelled by the ball between the first and sixth time the ball hits the ground?







[4]

4.
Arun is starting his first job. He will earn a salary of $20000 in the first year and his salary will increase by 10 every year.

(a)
Calculate how much Arun will earn in his 6th year of work.



[3]

(b)
In which year will his salary be $29282?





[3]
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